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05 QIZtR E S 72,000 75,000 A 3,000
OSSN ZZaIA slee
1,200,000 x50 A~ «12& 72,000
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307 21201 A 86,000 14,429 71,571
Xl 60,200
< 7,740
Al 18,060
02 ItFAAHE X 86,000 14,429 71,571
OMIAEIS MIEBEE XJAAS
86,000,000& 86,000
Xl 60,200
< 7,740
Al 18,060
e dMeldH X2 (SHEEXH )<KBE> 95,000 0 95,000
< 47,500




2N Xl ZH S
HH: dRelIsd(MIEN/eS)

Chelr Xl XS (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 47,500
307 glz2tol & 95,000 0 95,000
< 47,500
Al 47,500
02 It M AHE X 95,000 0 95,000
ousgaxgdieldy X 95,000,000& 95,000
< 47,500
Al 47,500
LSISHAB MR J AL S <E 2> 40,000 0 40,000
< 20,000
Al 20,000
308 XtXIEHH SOl A 40,000 0 40,000
< 20,000
Al 20,000
08 WFJ 20Ut E=x 40,000 0 40,000
Oodtstaxg SHstw XA 40,000,000& 40,000
< 20,000
Al 20,000
2224 SX s (MI=EX/=S) 2,699,655 2,342,358 357,297
X 238,250
< 200,313
Al 2,261,092
8 L A23 E& 441,110 397,610 43,500
< 62,000
Al 379,110
SMEER KA 131,110 131,610 A 500
201 Let24d] 9,930 9,090 840
01 At 2teltl 9,930 9,090 840
O1.det=2H| 4,400
“CAXI R ALY et 2HI 2,400,000& 2,400
-BHIZA EEN ME 25,0003 x80H 2,000
03.28=¢ 3,010
ST ARIEEOE PR HAST
70,000 x11H *13] 770
~C A HASREO S A ALY
70,0003 x8H »43] 2,240
O5.=2 &l 2,520
—SEAE YR AIZAZRX 24
7,000 «3x102 «12& 2,520
202 Odl 2,700 2,160 540
01 = LH 4 Hi 2,700 2,160 540
OLAMOE HRFANHI
60,0003 *3H 3 53] 2,700
301 LAz 1,960 1,960 0




2N

AT H e ST
=z

Ha: 227 22X SA(MEAZT/LS)
Sel: HF CARE FE EERED
SN B SR(EA) - MBAY - BES 0l &t o il HDE2
09 BAFAIHI2 &3 1,960 1,960 0
O-SEEAAE 30 HAX 4
7,000 *80% *23] 1,120
OSAE 2HIIZ ARHMao BAK S4
7,000 +30% *43] 840
307 £12+0| & 110,800 118,400 A7,600
02 SIHFMAYEE 103,000 110,600 A7,600
OASELE AZE DXl A 8,000,0008 8,000
OMNUABBZAING LSEBHE, Y™ S A
A el st 800,000 502 40,000
ORHIZT M4 K& 10,000,000 10,000
OLAb BA2H M2 I X &
9,000, 0002 9,000
O=AE DIEUY 1S 9,000, 0002 9,000
OLZ2e & 222X A3
4,500,000% *25| 9,000
OBUEALLT HANGN
9,000,0008 %274 2 18,000
04 I AAIR B T 4,200
OQZQ2ZR A0 U HES3HE A
3,000,000 +70/ 100%27H 2 4,200
05 BI2t9IErZ 3,600
OQ=Q2Z2N 2NEL 29
1,800,000 *27H 3,600
405 &3 St 5,720 0 5,720
01 R LS EH S 5,720 0 5,720
O=A2IZE s A2 F 5,720
-2 200,000 34 600
] 150,0002! 34 450
-l Xt 200,000! 34 600
4% AW 250,000 +37H 750
-2 BE 1,150,000 *2CH 2,300
-sl9lg Hlo0lg 300,000 *17 300
-slog Holg AX 120,0002! *64 720
2E AT B S P88 A I F <R E> 105,000
= 33,000
Al 72,000
307 £I2+0| & 105,000
= 33,000
Al 72,000
04 DI AAIRI B T 105,000
O22X &#0tS 2JIHS 40,000, 0002 40,000
= 8,000
Al 32,000




A gRelBH S

HM: 22T 22X S (A EX/8)
R A& L AIR2S HE (2 &HH)
- RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O&E9 Y J1¥ 22X &AL 25,000,000 25,000
=} 5,000
Al 20,000
O22 X It M M= 40,000,000 40,000
= 20,000
Al 20,000
CLSAEYNRESIIA<E > 205,000 80,000 125,000
= 29,000
Al 176,000
307 2Iz2t0| & 205,000 80,000 125,000
= 29,000
Al 176,000
03 QIZE X HAESHHIEX 125,000 0 125,000
O AICIEEO 3 A2 2Y9 125,000,000 125,000
& 5,000
Al 120,000
05 QIZtRES 80,000 80,000 0
O=0Z2IaSdy &43HAY
40,000,000 =24 A 80,000
= 24,000
Al 56,000
AR XA 2,258,545 1,944,748 313,797
N 238,250
& 138,313
Al 1,881,982
2222 ALY<E &> 1,748,045 1,368,748 379,297
& 90,663
Al 1,657,382
101 2121 H] 1,710,597 1,331,300 379,297
& 90,663
Al 1,619,934
04 JI2tHIZ22NEE S 1,710,597 1,331,300 379,297
OZ222 =AY ol 1,710,597,000& 1,710,597
o=t 90,663
Al 1,619,934
201 et d| 6,008 6,008 0
01 AFR 2t 2| H| 6,008 6,008 0
O1.48t==2H| 5,000
-2 22 2AIY 2Bt 2H| 5,000,000 5,000
O5.2&H| 1,008
—EZ22Z2AY A2UAAZLX 24!
7,000 x 18 x12L %123] 1,008
202 04| 1,440 1,440 0
01 2L HI 1,440 1,440 0




A gRelBH S
x

JH: 224 =X S (M=EX/ES)
el AloitHH X @ CEEEED
= _ — d =
SA - BB B () - MM - BES Ol &t o e HmEET
OZ2S22AY HEFW=S 32 FA0H
60,0003 *1H 3«83 1,440
206 M= Hl 30,000 30,000 0
01 =8l 30,000 30,000 0
O332Z2AMY M7 30,000, 000& 30,000
NEESH LIl AtE<E 2> 510,500 576,000 A 65,500
Xl 238,250
< 47,650
Al 224,600
101 144 dl 476,500 501,500 A 25,000
Xl 238,250
< 47,650
Al 190,600
4 JI12ZtHZE2EXREES 476,500 501,500 A 25,000
OXNESsHE el At 476,500,000 476,500
Xl 238,250
< 47,650
Al 190,600
201 Let24d] 4,000 4,500 A 500
01 At 22l 4,000 4,500 A 500
O1.eet=2H| 4,000
-ANEBSHLAelArY det=82H|
4,000,000& 4,000
206 M= Hl 30,000 70,000 A 40,000
01 =8l 30,000 70,000 A 40,000
OXNgIZSHLeAS HE7Y
30,000, 000& 30,000
HUXSXRS (&Y - SAIG/HEHXXL RN 232,189 246,489 214,300
= 11,727
< 13,890
Al 106,572
HUXNSELAHAZE S 232,189 246,489 A 14,300
= 11,727
< 13,890
Al 106,572
OIHAXIAIE JHE & ol X 2 ef 64,039 63,839 200
201 Let249] 10,799 10,599 200
01 At 22l 10,220 10,020 200
O1.Let==ZH| 7,700
-HUHX ESAY LEt=ZH| 2,000,000& 2,000
-HUXZSY A2 222 ME
2,500,000 2,500
IMA R AZ2MHA 017
2,000& 300K 22 1,200




fM: 2l ZH S
HH: UXSXAE (MY - SAI/H0ETL )

Shol: 0L XIS A % TR o EEREED
= d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SMMAKES AIZHA SFH
1,600& *24 *10000 2 +5& 1,600
“FRATI AWE JEYI 2F 442
400,000 =14 400
O5.2&Hl 2,520
“MHAMENURN HRFE AIZAZRL =4
7,000 +3H«10L «122 2,520
02 2324l 579 579 0
O1.332LHA 579
“ObAVHMD MHZEAIE HE2S SER
1,930& #2501 &+ 123 579
202 O4dl 3,240 3,240 0
01 = LHA YI 3,240 3,240 0
OMAMEH UK HRF=X0YI
60,0003 *3H +32 +63] 3,240
403 A X EHH S 201 A 50,000 50,000 0
02 SI|1 2SOl CHSHAH 2 X CH & AF I 50,000 50,000 0
SAILA BSAY X3 X&
500,000& 1002t +* 50,000
N EIAAEMNE (28] )<E X> 139,650 150, 150 A 10,500
= 11,727
< 8,400
Al 19,523
403 A X EHHS =0l A 139,650 150, 150 210,500
= 11,727
= 8,400
Al 19,523
02 SJ| 2SO0l CHSt At 2 X CH & AF & I 139,650 150, 150 A 10,500
OMEBIEINAANEIMLEXE ALY
245,000& 570 All CH 139,650
= 11,727
< 8,400
Al 19,523
NMOUSIACHEXISD| (EIOIN B )ESAE (ZH)<B X 28,500 32,500 A4,000
>
= 5,490
Al 23,010
403 UtXSHHSA=0l& 28,500 32,500 A 4,000
S 5,490
Al 23,010
02 SJ|1 2SO0l CHSH At 2 X CH & A I 28,500 32,500 24,000
OMBISIIACHAMRISD| (EIOINE) BE2AY
50,000 *570 Al CH 28,500
< 5,490
Al 23,010
Y 2SI (LRSS ) (IIEH/IIE) 91,564 93,268 A1,704




2N

E PN PN =n);

M HES2GFU (LRI ZEHM =S 3H) (I1EH/DIE)
¢l =gl (chel & 9l)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Jl= &l 91,564 93,268 A1,704
f A2 8,164 12,048 A 3,884
201 Let24d] 8,164 12,048 A 3,884
01 At 22/l 7,684 11,568 A 3,884
ORN2Y Let==EH| 4,420,000 4,420
ORAN2YE =&l 1,680,000 1,680
O=A2] & xt 132,000& =128 1,584
02 =224l 480 480 0
ORA2YE 8323 480,000& 480
AR FE 0 79,200 76,220 2,980
202 oddl 79,200 76,220 2,980
01 = LH o4 4l 79,200 76,220 2,980
OFYUPFAAHM 20,0008 x24F 132 122 74,880
OL=0 L2 Kbl
20,0003 *24H 32«38 4,320
A2 F=4H 4,200 5,000 A 800
203 YR =&y 4,200 5,000 A 800
04 FNSEHE=LH 4,200 5,000 A 800
ORNSYYL =Y (Z 2 :242)
350,000& 1228 4,200
HeRes(2Medesh) (& - A H/MgAE 4,446 6,840 A2,394
NE3)
WHEHHXZ 4,446 6,840 A2,39%4
SIGHEZ(&=+E) 4,446 6,840 A2,39%
701 JIEtSI HEEES 4,446 6,840 22,39
02 BISBEEHIMEES 4,446 6,840 A2,39%
OXE g4 g JEHIZ
9503 * 1304 2+30= 122 4,446




